Division by chunking - Answers

1) 	45 ÷3 = __
2) 	85 ÷5 = __
3) 	96 ÷ 6 = __
4) 	54 ÷ 3 = __
5) 	56 ÷ 4 = __
6) 	26 ÷ 2 = __
7) 	60 ÷ 4 = __
8) 	90 ÷ 6 = __
9) [bookmark: _GoBack]	42 ÷ 3 = __



Extension : Challenge B
10) 84 ÷ 4 = __
11) 	104 ÷ 8 = __
12) 126 ÷ 9 = __
13) 119 ÷ 7 = __
14) 138 ÷ 6 = __







Division by chunking - Answers

1) 	45 ÷3 = 45
2)  	85 ÷5 = 17
3) 	96 ÷ 6 = 16
4) 	54 ÷ 3 = 18
5) 	56 ÷ 4 = 14
6) 	26 ÷ 2 = 13
7) 	60 ÷ 4 = 15
8) 	90 ÷ 6 = 15
9) 	42 ÷ 3 = 14



Extension : Challenge B
10) 104 ÷ 8 = 13
11) 	126 ÷ 9 = 14
12) 119 ÷ 7 = 17
13) 84 ÷ 4 = 21
14) 138 ÷ 6 = 23
